To že znam

1. Deli in naredi preizkus.
56 802 : 71 =




2. Reši enačbi in neenačbi.
a – 23 566 = 12 000					b : 56 = 23



a ≥ 17								3 ∙ c < 15


3. Zapiši primer, kaj pomeni:
· 5-krat toliko __________________________________________________
· za 2 več    _____________________________________________________
· 7-krat manj ___________________________________________________
· za 8 manj _____________________________________________________

4. [bookmark: _GoBack]V DZ na strani 72 reši naloge 2,3,4,5!





